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Winter Addition
Solve the following word problems.

1 Liam has 4 sleds. He gets 2 more for his birthday.
How many sleds does Liam have now?

2 Tommy has 4 winter hats. He buys 3 more. How
many winter hats does Tommy have now?

3 There are 2 snowmen in the yard. The kids build 5
more. How many snowmen are in the yard now?

4 Lucy has 5 icicles hanging from her house. She
finds 3 more. How many icicles does Lucy have
now?

5 Oliver has 3 pairs of mittens. His grandmother knits
him 4 more pairs. How many pairs of mittens does
Oliver have now?

6 There are 6 snowflakes on the window. 3 more
snowflakes land on the window. How many
snowflakes are on the window now?

7 Sammy has 2 cups of hot chocolate. If he makes 3
more cups, how many cups of hot chocolate will he
have?

8 There are 3 penguins on the ice. 3 more penguins
join them. How many penguins are on the ice now?

9 There are 2 kids playing on the ice rink. If 6 more
kids join them, how many kids are playing on the
ice rink now?


